## PROPOSAL RESULTS RFP2016-01 AUDITOR FOR THE MERCER COUNTY INSURANCE COMMISSION June 23, 2016 AWARD CONTRACT FOR ONE YEAR: 2015 AUDIT NO. OF RESPONDENTS: 3 NAME OF RESPONDENT **BOWMAN & COMPANY LLP** HOLMAN FRENIA ALLISON, P.C. NISIVOCCIA, LLP ADDRESS 601 WHITE HORSE ROAD 618 STOKES ROAD 200 VALLEY ROAD, SUITE 300 CITY, STATE, ZIP VOORHEES, NJ 08043 MEDFORD, NJ 08055 MOUNT ARLINGTON, NJ CONTACT JAMES J. MILLER, JR. CPA KEVIN P. FRENIA FRANCIS J. JONES TELEPHONE 856 821 6860 609 953 0612 973 328 1825 609 953 8443 FAX 856 782 5017 973 328 0507 KFRENIA@HFACPAS.COM E-MAIL JMILES@BOWMANLLP.COM BJONES@NISIVOCCIA.COM INSURANCE INDEMNIFICATION PAGE SIGNED AND DATED SIGNED AND DATED SIGNED AND DATED INSURANCE REQUIRED FROM AWARDED VENDOR STOCKHOLDER DISCLOSURE CERTIFICATE OK OK OK BUSINESS REGISTRATION CERTIFICATE OK OK OK EIC 15 EXPIRES 2.25.17 7168 EXPIRES 3.15.20 5693 EXPIRES 9.15.18 EXHIBIT A INCLUDED INCLUDED INCLUDED IRAN CERTIFICATION SIGNED AND DATED SIGNED AND DATED SIGNED AND DATED NON-COLLUSION AFFIDAVIT SIGNED AND DATED CERTIFICATION OF POLITICAL CONTRIBUTIONS SIGNED AND DATED HOLD PRICING BEYOND 60 DAYS YES YES YES REFERENCES INCLUDED INCLUDED INCLUDED QUALIFICATION STATEMENT INCLUDED INCLUDED INCLUDED COST FOR SERVICES 9,200.00 10,000.00 10,000.00 DETAILED BUDGET INCLUDED YES YES NO FATAL FLAW NO NO NO

BID RESULTS
-------------

## AB2016-19 MEDICO-LEGAL DEATH INVESTIGATORS FOR THE MERCER COUNTY MEDICAL EXAMINER FOR A PERIOD OF TWO (2) YEARS WITH THE OPTION TO EXTEND TWO (2) YEARS

AB2016-19 MEDICO-LEGAL DEATH INVESTIGATORS FOR THE	EMERCER COUNTY MEDICAL EXAMINER FOR A PERIOD OF TWO (2) Y	YEARS WITH THE OPTION TO EXTEND TWO (2) YEARS
	BID OPENING DATE: JUNE 23, 2016	
CONTRACT SHALL BE FOR A PERIOD OF TWO (2) YEARS WITH THE OPTION TO EXTEND TWO (2) YEARS; AWARD BASED UPON QUALIFICATIONS; BIDDERS SHALL SUBMIT PROOF OF EDUCATIONS AND REFERENCES; COUNTY DEFINES COSTS: WEEKDAY: \$236 DAILY RATE (260 DAYS), WEEKLY EVENING: \$201 (261 DAYS), WEEKEND: \$15,750 (52 WEEKENDS); A TOTAL OF THREE (3) CONTRACTS SHALL BE AWARDED;		
NO. OF BIDDERS:	2	
NAME OF BIDDER	KEVIN R. LATHAM	JOHN KEEFE
ADDRESS	1711 EXTON AVENUE	323 BLUEBELL AVENUE
CITY, STATE, ZIP	HAMILTON, NJ 08610	LANGHORNE, PA 19047
CONTACT	KEVIN R. LATHAM	JOHN KEEFE
ELEPHONE	609 610 5232	267 307 8623
AX	609 888 5018	
-MAIL	LATHAMKEVINR@GMAIL.COM	JKEEFE@MERCERCOUNTY.ORG
NSURANCE REQUIRED FROM AWARDED VENDOR		
NDEMNIFICATION AND INSURANCE REQUIREMENTS	SIGNED AND DATED	NOT SIGNED; REQUIRED IF AWARDED
IEW JERSEY BUSINESS REGISTRATION	OK	REQUIRED IF AWARDED
STOCKHOLDER DISCLOSURE	OK	OK
XHIBIT A	INCLUDED	INCLUDED
RAN CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED
IC	45348 EXPIRES 8.15.17	REQUIRED IF AWARDED
IOLD PRICING BEYOND 60 DAYS	YES	YES
CONTINUITY OF OPERATION	YES	YES
WO (2) REFERENCES	INCLUDED, DR. AHMAD TO REVIEW	INCLUDED, DR. AHMAD TO REVIEW
ASSOCIATES DEGREE IN MORTUARY SCIENCE OR CERTIFICATE OF MEDICAL/LEGAL DEATH INVESTIGATORS COURSE FROM ST. LOUIS SCHOOL DEATH INVESTIGATORS	DIPLOMA IS MORTUARY SCIENCE	CERTIFICATION COURSE THROUGH ST. LOUIS
XCEPTIONS	NONE	NONE
TATAL FLAW	NO	NO

BID RESULTS

AB2016-20 REHABILITATION OF RUNWAY 6-24 AT THE TRENTON-MERCER AIRPORT												
BID OPENING DATE: JUNE 24, 2016												
TOC: 150 CD FROM NIP-LD: PER CD DEPENDS ON PHASING OF WORK: WORK WILL COMMENCE IN SPRING 2017: THREE (3) REFERENCES AND TEN (10) YEARS OF AIRPORT RINWAY EXPERIENCE REQUIRED ASPHALT PROCE INDEX IS APPLICABLE: PERFORMANCE BOND RECURRED OF AWARDED CONTRACTOR: UPON ACCEPTANCE A ONE (1) YEAR CONSTRUCTION WARRANTY; ELECTRICAL SUB REQUIRED, ONE ADDENDUM ISSUED												
	6											
NAME OF BIDDER	C.J. HESSE, INC.	CARDINAL CONTRACTING CO., LLC	INTERCOUNTY PAVING ASSOCIATES, LLC	CRISDEL GROUP, INC.	EARLE ASPHALT COMPANY	HBC COMPANY, INC.						
ADDRESS	25 FIRST AVENUE	1738 ROUTE 206	859 WILLOW GROVE STREET	240 RYAN STREET	P.O. BOX 556	131 WASHINGTON STREET						
CITY, STATE, ZIP	ATLANTIC HIGHLANDS, NJ 07716	SOUTHAMPTON, NJ 08088	HACKETTSTOWN, NJ 07840	SOUTH PLAINFIELD, NJ 07080	FARMINGDALE, NJ 07727	LODI, NJ 07644						
CONTACT	LAWRENCE C. HESSE	ED PRICE	JOHN PERRUCCI JR.	FRANK A. CRISCOLA	BIRAN M. COOPER	JERRY HOOGENDOORN						
TELEPHONE	732 291 8100	609 859 4100	908 852 5868	908 561 7550	732 308 1113	973 777 4472						
FAX	732 495 6225	609 859 4145	908 852 0915	908 561 5534	732 308 1034	973 777 4822						
E-MAIL	LHESSE@CJHESSE.COM	CARDINAL ESTIMATING@YAHOO.COM	BISABELLE@INTERCOUNTYPAVING.COM.	FRANKC/ICRISDEL.COM	BCGOPER/REARLECO.COM	JH BHBCCO.COM						
ADDENDUM NO. ONE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
HOLD PRICING BEYOND 60 DAYS	YES	YES	NO	YES	YES	YES						
BID BOND	WESTPORT INSURANCE CORPORATION 10% NTE 20K	NORTH AMERICAN SPECIALTY INSURANCE COMPANY 10% NTE 20K	FIDELITY AND DEPOSIT COMPANY OF MARYLAND 10% NTE 20K	LIBERTY MUTUAL INSURANCE COMPANY 10% NTE 20K	FEDERAL INSURANCE COMPANY 10% NTE 20K	SELECTIVE INSURANCE COMPANY OF AMERICAN 10% NTE 20K						
CONSENT OF SURETY	DAWN M. JONES AIF WITH POA	NANCY NIGRO AIF WITH POA	SUSAN LUPSKI AIF WITH POA	MICHAEL CARADIMITROPOULO AIF WITH POA	AIZA LOPEZ AIF WITH POA	JEANNE PRIMAVERA AIF WITH POA						
INSURANCE REQUIRED FROM AWARDED VENDOR												
INDEMNIFICATION AND INSURANCE	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
IRAN CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
PREVAILING WAGE CERTIFICATION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
STOCKHOLDER DISCLOSURE	OK	OK	OK	OK	OK	OK						
EXHIBIT B	INCLUDED	INCLUDED	INCLUDED	REQUIRED IF AWARDED	INCLUDED	INCLUDED						
AA201 REQUIRED IF AWARDED												
PW CONTRACTOR REG.	608194 EXPIRES 8.1.17	661689 EXPIRES 2.7.18	56671 EXPIRES 7.31.16	606123 EXPIRES 5.6.18	18315 EXPIRES 5.5.17	603513 EXPIRES 7.31.17						
NEW JERSEY BUSINESS REGISTRATION	OK	OK	OK	OK	OK	OK						
ELECTRICAL CONTRACTOR	GLOBAL ELECTRICAL SERVICES, INC. 634868 EXPIRES 3.10.18; LICENSE # 34EB01508600 EXPIRES 3.31.18; BRK OK	GLOBAL ELECTRICAL SERVICES, INC. 634868 EXPIRES 3.10.18; LICENSE # 34EB01508600 EXPIRES 3.31.18; BRK OK	TIFFANY ELECTRIC, INC. 606169 EXPIRES 5.23.18; LICENSE # 34EB01495800 EXPIRES 3.31.18; <b>NO BRC</b>	SANTANIELLO ELECTRIC, LLC 658325 EXPIRES 12.6.16; LICENSE # 34E100151000 EXPIRES 3.31.18; BRC OK	GARY KUBIAK & SON ELECTRIC CO. 51999 EXPIRES 5.2.18; LICENSE # 34EB01163300 EXPIRES 3.31.18; BRC OK	IN-HOUSE LICENSE # 34EB01089000 EXPIRES 3.31.1						
NON-COLLUSION	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
BIDDER OR SUBS DEBARRED	NO	NO	NO	NO	NO	NO						
SAFETY CERT	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED	SIGNED AND DATED						
EQUIPMENT CERT	ОК	ОК	OK	OK	ОК	OK						
TEN YEARS EXPERIENCE AND THREE REFERENCES	INCLUDED, URBAN TO REVIEW	INCLUDED	INCLUDED	INCLUDED	INCLUDED	INCLUDED						
TOTAL CONSTRUCTION COST	\$ 5,568,168.10	\$ 5,980,800.80	\$ 8,212,000.00 \$ 8,346,999.00		\$ 8,378,913.13	\$ 8,657,468.85						
EXCEPTIONS	NONE	NONE	NONE	NONE	YES. SHOULD THE AWARD NOT BE MADE WITHIN 90 DAYS FROM THE BID OPENING, THE CONTRACTOR RESERVES THE RIGHT IO NOT EXTEND THER BID CONSIDERATION. IN THE EVENT THE AWARD IS NOT MADE WITHIN 90 DAYS, AUTHORIZATION FOR EXTENSION MUST BE GIVEN BY CONTRACTOR	NONE						
FATAL FLAW	NO	NO	NO	NO	NO	NO						

Trenton-Mercer Airport																	
	AB2016-20 Trenton-Mercer Airport Runway 6-24 R									ehabilitation Proposal							
						HESSE		NAL CONTRACTING		JNTY PAVING		CRISDEL		RLE ASPHALT		HBC CO	
Item No.	FAA Spec. No.	Description	Qty.	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	
- 1	P-101-5.1	Crack Repair (Greater than 1/4", Less than 1/2")	40,000	LF	\$ 2.85 \$	114,000.00	\$ 0.65	\$ 26,000.00	\$ 2.95 \$	118,000.00	\$ 1.20	\$ 48,000.00	\$ 0.25	s 10,000.00	\$ 2.20	\$ 88,000.00	
2	P-101-5.2	Crack Repair (Greater than 1/2")	25,000	LF	\$ 2.75 \$	68,750.00	\$ 1.00	\$ 25,000.00	s 3.50 s	87,500.00	\$ 1.70	\$ 42,500.00	s 1.50	s 37,500.00	\$ 2.50	\$ 62,500.00	
3	P-101-5.3	Paint and Rubber Removal (1/4" Scratch Mill)	14,915	SY	\$ 2.50 \$	37,287.50	\$ 1.50	\$ 22,372.50	\$ 5.50 \$	82,032.50	\$ 2.45	\$ 36,541.75	\$ 1.75	\$ 26,101.25	\$ 3.25	\$ 48,473.75	
4	P-101-5.4	Cold Milling (0" to 4" Depth)	109,850	SY	\$ 5.10 \$	560,235.00	\$ 3.60	\$ 395,460.00	s 8.85 s	972,172.50	\$ 8.00	\$ 878,800.00	s 13.75	s 1,510,437.50	\$ 12.00	\$ 1,318,200.00	
5	P-101-5.5	Cold Milling (3" to 6" Asphalt Base Average Depth)	9,800	SY	\$ 10.00 \$	98,000.00	\$ 10.00	\$ 98,000.00	s 38.00 s	372,400.00	\$ 33.00	\$ 323,400.00	\$ 45.00	\$ 441,000.00	\$ 22.00	\$ 215,600.00	
6	P-101-5.6	Cold Milling (0° to 2°)	13,350	SY	\$ 3.00 \$	40,050.00	\$ 6.75	\$ 90,112.50	s 8.50 s	113,475.00	\$ 0.10	\$ 1,335.00	s 20.00	\$ 267,000.00	\$ 12.00	\$ 160,200.00	
7	P-401-8.1.1	Bituminous Surface Course	25,800	TON	\$ 80.00 \$	2,064,000.00	\$ 85.00	\$ 2,193,000.00	s 115.00 s	2,967,000.00	\$ 112.00	\$ 2,889,600.00	\$ 115.00	\$ 2,967,000.00	\$ 117.00	\$ 3,018,600.00	
8	P-401-8.1.2	Bituminous Base Course, 6" Deep Patching	3,022	TON	\$ 76.75 \$	231,938.50	\$ 95.00	\$ 287,090.00	s 165.00 s	498,630.00	\$ 209.00	\$ 631,598.00	\$ 250.00	\$ 755,500.00	\$ 130.00	\$ 392,860.00	
9	P-603-5.1	Bituminous Tack Coat	21,362	GAL	\$ 3.70 \$	79,039.40	\$ 3.85	\$ 82,243.70	s 3.00 s	64,086.00	\$ 3.50	\$ 74,767.00	\$ 3.50	\$ 74,767.00	\$ 8.00	\$ 170,896.00	
10	P-620-5.1	Runway and Taxiway Marking - Temporary	100,116	SF	\$ 1.30 \$	130,150.80	s 1.40	\$ 140,162.40	s 0.35 s	35,040.60	\$ 0.45	\$ 45,052.20	s 1.15	\$ 115,133.40	\$ 0.30	\$ 30,034.80	
11	P-620-5.2	Runway and Taxiway Marking - Permanent	100,116	SF	\$ 1.30 \$	130,150.80	\$ 1.40	\$ 140,162.40	s 0.90 s	90,104.40	\$ 0.80	\$ 80,092.80	\$ 1.15	\$ 115,133.40	\$ 0.80	\$ 80,092.80	
12	P-621-5.1	Sawcut Grooves	66,511	SY	\$ 2.10 \$	139,673.10	\$ 2.25	\$ 149,649.75	\$ 2.50 \$	166,277.50	\$ 2.65	\$ 176,254.15	\$ 1.85	123,045.35	\$ 3.00	\$ 199,533.00	
13	P-660-3.1	Fuel Price Adjustment (NON AIP)	1	LS	\$ 85,000.00 \$	85,000.00	\$ 85,000.00	\$ 85,000.00	\$ 85,000.00 \$	85,000.00	\$ 85,000.00	\$ 85,000.00	\$ 85,000.00	s 85,000.00	\$ 85,000.00	\$ 85,000.00	
14	P-660-3.2	Asphalt Price Adjustment (NON AIP)	1	LS	\$ 100,000.00 \$	100,000.00	\$ 100,000.00	s 100,000.00	s 100,000.00 s	100,000.00	\$ 100,000.00	\$ 100,000.00	\$ 100,000.00	s 100,000.00	\$ 100,000.00	\$ 100,000.00	
15	T-901-5.1	Seeding	11,000	SY	\$ 1.75 \$	19,250.00	\$ 0.35	\$ 3,850.00	s 1.15 s	12,650.00	\$ 1.05	\$ 11,550.00	s 1.00	\$ 11,000.00	\$ 2.00	\$ 22,000.00	
16	T-905-5.1	Topsolling	611	CY	\$ 61.00 \$	37,271.00	\$ 143.00	\$ 87,373.00	s 75.00 s	45,825.00	\$ 47.25	\$ 28,869.75	\$ 125.00	\$ 76,375.00	\$ 45.00	\$ 27,495.00	
17	T-908-5.1	Mulching	11,000	SY	\$ 0.60 \$	6,600.00	\$ 0.30	\$ 3,300.00	s 1.15 s	12,650.00	\$ 0.70	\$ 7,700.00	s 0.35	s 3,850.00	\$ 2.00	\$ 22,000.00	
18	L-108-5.1	1-1/C No. 8AWG 5KV, L-824C Cable in Conduit or Duct Bank	24,750	LF	\$ 2.65 \$	65,587.50	\$ 2.50	\$ 61,875.00	s 3.50 s	86,625.00	\$ 2.75	\$ 68,062.50	\$ 2.15	s 53,212.50	\$ 2.50	\$ 61,875.00	
19	L-108-5.2	1-1/C No. 6 AWG, Stranded Green Insulated Copper Safety Equipment Ground Conductor in Conduit or Duct Bank	19,395	LF	\$ 3.15 \$	61,094.25	\$ 3.00	\$ 58,185.00	s 2.15 s	41,699.25	\$ 0.90	\$ 17,455.50	s 1.75	\$ 33,941.25	\$ 2.30	\$ 44,608.50	
20	L-108-5.3	1-1/C No. 6 AWG, Solid Bare Counterpoise Wire above Conduit or Duct Bank, including 3/4" x 10' Ground Rods, Supplemental Ground Rods, and Ground Connectors	19,395	LF	\$ 5.25 \$	101,823.75	\$ 5.00	\$ 96,975.00	s 2.25 s	43,638.75	\$ 2.60	\$ 50,427.00	s 2.15	s 41,699.25	\$ 3.00	\$ 58,185.00	
21	L-110-5.1	Electrical Conduit, 2 Inch PVC Schedule 40, Direct Buried Conduit in Non-Paved Areas	18,200	LF	s 12.60 s	229,320.00	\$ 12.00	\$ 218,400.00	\$ 18.75 \$	341,250.00	\$ 13.70	\$ 249,340.00	\$ 4.30	\$ 78,260.00	\$ 18.00	\$ 327,600.00	
22	L-110-5.2	Connection to Existing Lighting Fixture	11	EA	s 790.00 s	8,690.00	s 750.00	\$ 8,250.00	s 650.00 s	7,150.00	\$ 1,550.00	\$ 17,050.00	\$ 4.75	\$ 52.25	\$ 475.00	\$ 5,225.00	
23	L-110-5.3	Connection to Existing Junction Structure	15	EA	s 790.00 s	11,850.00	\$ 750.00	\$ 11,250.00	s 650.00 s	9,750.00	\$ 1,445.00	\$ 21,675.00	\$ 4.75	\$ 71.25	\$ 230.00	\$ 3,450.00	
23	L-110-5.4	Connection to Existing Conduits/Duct Banks	6	EA	\$ 1,575.00 \$	9,450.00	\$ 1,500.00	s 9,000.00	\$ 650.00 \$	3,900.00	\$ 1,530.00	\$ 9,180.00	s 2.00	s 12.00	\$ 460.00	\$ 2,760.00	
25	L-110-5.5	Electrical Conduit, 2 Inch PVC Schedule 40 in Saw Kerf, Concrete Encased in Paved	1195	LF	s 98.70 s	117,946.50	s 94.00	\$ 112,330.00	s 46.00 s	54,970.00	\$ 33.75	\$ 40,331.25	\$ 18.00	s 21,510.00	s 50.00	\$ 59,750.00	
25	L-115-5.1	Junction Light Base	3	LF	s 840.00 s	2,520.00	s 800.00	\$ 2,400.00	\$ 4,631.00 S	13,893.00	\$ 4,525.00	\$ 13,575.00	\$ 1,805.00	s 5,415.00	\$ 1,400.00	\$ 4,200.00	
26	L-125-5.1	Elevated Runway Edge Light with New L-867B Class 1A Light Base with Concrete Maintenance Pad	53	EA	s 1,260.00 s	66,780.00	\$ 1,200.00	\$ 63,600.00	\$ 4,795.00 S	254,135.00	\$ 4,085.00	\$ 216,505.00	\$ 2,945.00	s 156,085.00	\$ 3,500.00	\$ 185,500.00	
	L-125-5.2	Maintenance Pag  Semi-Flush Runway Edge Light with New L-868B Class 1A Light Base	5	EA	s 1,900.00 s	9,500.00	\$ 1,800.00	s 9,000.00	\$ 6,771.00 \$	33,855.00	\$ 3,950.00	\$ 19,750.00	\$ 2,945.00	s 14,725.00	\$ 4,200.00	\$ 21,000.00	
28	L-125-5.3	Elevated Runway Edge Light with New L-867B Class 1A Light Base in Existing Pavement	2	EA	s 3.360.00 s	6.720.00	\$ 3.200.00	s 6.400.00	s 6.192.00 s	12.384.00	\$ 3.550.00	\$ 7.100.00	\$ 2.945.00	s 5.890.00	s 3.500.00	s 7,000,00	
29	L-125-5.4	New 150W Isolation Transformer for Existing Elevated Runway End Light in Existing Light	16	EA	s 205.00 s	3,280.00	s 195.00	\$ 3,120.00	\$ 585.00 \$	9,360.00	\$ 682.00	\$ 10,912.00	\$ 570.00	s 9,120.00	s 800.00	\$ 12,800.00	
30	L-125-5.5	Basse Existing Elevated Taxiway Edge Light with New L-867B Class 1A Light Base with Concrete	7	EA	s 1.470.00 s	10.290.00	s 1.400.00	s 9,800.00	s 4.912.00 s	34.384.00	s 3.915.00	\$ 27,405,00	\$ 2,470.00	s 17.290.00	\$ 3.050.00	\$ 21,350,00	
31	L-125-5.6	Maintenance Pad  Existing Elevated Taxiway Edge Light with New L-867B Class 1A Light Base	10	EA	s 945.00 s	9,450.00	s 900.00	\$ 9,000.00	\$ 4,210.00 S	42,100.00	\$ 2,895.00	\$ 28,950.00	\$ 1,795.50	s 17,955.00	\$ 3,700.00	\$ 37,000.00	
32	L-126-5.1	L-858Y(L) Taxiway Guidance Sign on Foundation	11	EA	s 6,200.00 s	68,200.00	s 5,900.00	s 64,900.00	\$ 6,200.00 S	68,200.00	\$ 13,000.00	\$ 143,000.00	\$ 8,550.00	s 94,050.00	\$ 8,500.00	\$ 93,500.00	
33	L-126-5.2	L-858B(L) Runway Distance Remaining Sign on Foundation	5	EA	s 6,300.00 s	31.500.00	\$ 6,000.00	s 30,000,00	\$ 6,800.00 S	34.000.00	\$ 13,625.00	\$ 68.125.00	\$ 6.840.00	\$ 34,200.00	\$ 8,860.00	\$ 44,300.00	
34	L-128-4.1	Removal of Cable from Conduit	20.500	LF	s 0.80 s	16.400.00	\$ 0.75	s 15.375.00	s 0.58 s	11.890.00	\$ 0.85	\$ 17.425.00	\$ 1.20	\$ 24.600.00	s 1.50	s 30.750.00	
35	L-128-4.2	Removal of Elevated Taxiway Edge Light Fixture Light Base	10	EA	s 735.00 s	13.230.00	s 700.00	s 12,600,00	s 584.00 s	10.512.00	s 2.185.00	\$ 39,330,00	\$ 104.50	s 1.881.00	\$ 550.00	s 9,900.00	
36	L-128-4.2	Removal of Elevated Taxiway Edge Light Fixture	18	EA EA	s 160.00 s	8,480.00	s 150.00	\$ 7,950.00	\$ 233.00 \$	12,349.00	\$ 2,220.00	\$ 39,330.00	\$ 104.50	s 1,881.00 s 5,538.50	\$ 310.00	s 9,900.00	
37	L-128-4.3	Removal of Semi-Flush Runway Edge Light Fixture	23	EA EA	s 160.00 s	1,120.00	s 150.00	\$ 7,950.00 \$ 1.050.00	\$ 233.00 S	1,631.00	s 2,220.00	s 117,660.00 s 2,205.00	s 104.50	s 5,538.50 s 731.50	\$ 750.00	\$ 5,250,00	
38	L-128-4.4	Removal of Sign		EA EA	s 262.50 s	4,200.00	s 250.00	\$ 1,050.00 \$ 4,000.00	\$ 233.00 S	18,720.00	\$ 1,885.00	s 2,205.00 s 30.160.00	\$ 285.00	s 731.50 s 4.560.00	\$ 500.00	s 5,250.00 s 8,000.00	
39	L-128-4.5 L-128-4.6	Removal of Sign  Temporary Electrical Work	16	EA LS	\$ 262.50 \$ \$ 8.000.00 \$	4,200.00 8,000.00	\$ 250.00 \$ 132,000.00	\$ 4,000.00 \$ 132,000.00	\$ 1,170.00 \$ \$ 320.000.00 \$	18,720.00	\$ 1,885.00 \$ 50,400.00	\$ 30,160.00 \$ 50.400.00	\$ 285.00	s 4,560.00 s 171,000.00	s 500.00 s 39,000.00	\$ 8,000.00 \$ 39,000.00	
40		11.12	1										\$ 171,000.00				
41	X-107-4.1	Maintenance and Protection of Airfield Traffic	1	LS	\$ 200,000.00 \$	200,000.00	\$ 50,000.00	\$ 50,000.00	\$ 406,435.50 \$	406,435.50	\$ 227,050.00	\$ 227,050.00		\$ 556,770.73	\$ 550,000.00	\$ 550,000.00	
42	X-501-5.1	Temporary Inlet Protection	24	EA	\$ 150.00 \$	3,600.00	\$ 530.00	\$ 12,720.00	\$ 400.00 \$	9,600.00	\$ 175.00	\$ 4,200.00	\$ 250.00	s 6,000.00	\$ 200.00	\$ 4,800.00	
43	X-751-5.1	Abandon Catch Basin	37	EA	\$ 1,020.00 \$	37,740.00	\$ 3,500.00	\$ 129,500.00	\$ 2,425.00 \$	89,725.00	\$ 1,275.00	\$ 47,175.00	\$ 1,500.00	\$ 55,500.00	\$ 2,750.00	\$ 101,750.00	
44	X-100-2.1	Mobilization TOTAL CONSTRUCTION COST	1	LS	\$ 520,000.00 \$	520,000.00 5.568.168.10	\$ 912,344.55	\$ 912,344.55 \$ 5,980,800,80	\$ 417,000.00 \$	417,000.00 8.212.000.00	\$ 1,341,490.10	\$ 1,341,490.10 \$ 8,346,999.00	\$ 250,000.00	\$ 250,000.00 \$ 8,378,913.13	\$ 860,000.00	\$ 860,000.00 \$ 8,657,468.85	
		TOTAL CONSTRUCTION COST		ь	\$	5,568,168.10		<ul> <li>5,980,800.80</li> </ul>	\$	8,212,000.00		a 8,346,999.00		a 8,378,913.13		a 8,657,468.85	